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C/C++ 73919 :’N poh

(1 - 4 mbNY) MNaN MYNYA 4 TIinn 7303 ORY 2 by nayh v

1913 19INAY ,IIANDA YU AWYN N3 AIDTH NN DIVAY N3 1t NN Yy iy - (111D 20) 1 9901 NYNY

DYDY DMH0N DV TIVN NDAPNN ,SWap NPSPNN NN INID W (MNP 5) (N

JON DYOPTINIY 0¥ AN NIND) DXOPTIN 2 -)

swap(A,2,4) mopn o ,A={0,10,20,30,40} 77vnn May Hund
.{0,10,40,30,20} 52> Twnn

D0V D900 DV TIYN NDAPNI ,max NPSPNon NN 1IN ¥ (MNP 7)
S7IYN2 NP2 NTHD 900N DY OPTIRA IR TVINM DT NNY

: NI ONIMNONI WNnwno 19°) n 57N DMI900 TN PII0 Y12 (MTP) 8)
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: DONN
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19913 19IX3Y ,MI2NDA HY IPEH TNV BI907 AN BIUIY X 11 AN By iy - (NP 20) 2 990N nYNY

(N mpT ,myw) yat mas»nn , Time Nponnn nnn
class Time{
int hour;//nyv
int minute; //mpT
int second;//nyv
public:
Time(); /looN2

Time (int h, int m, int §);

int isLater(const Time &time); // 7aynn 10 0y OP»IND NN ANYN
/I7omad
IS
DY LPYAND PIT DX INWND ,isLater DIPNON NN DINID W (MTIPI 10) (N

N DX L1 PINNT ¥ INY IMNND JUNIDN DR .IVNIAD NN YT
.0 PINNT ¥ DMV DMININ DX ,-1 PINNY W N OTPIN

-1 minn A.isLater(B) nxpin ,B=10:29:30 ,A=10:30:00 May : N1y
AN A W PITHN N DTN AN»N B vyt pd

STWNN DTN AR 0N DY TN NDAPND PPN INDY v (MTIP) 10) (2
DNT DX PPV JPNM) IMRNDT OTPIND TTION TIWIN OX 1 PINN NPSPNN
SN PYON NINPN WNINYNY ¥ NINR 0 -1 ,(DMY
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19973 19131, N13NIH YV WU TNYa 1150 TN DU X3 T AN Sy may - (1T 20) 3 990N NYNY

: MININ NPIPNON NN wond v

NN 7PINDY DT NN DIOY D900 DY TIvNR N2APNH PPN (MNP 5) (N
(DM TIY) TN NP2 VPN 10PN

NN 7PN NDTI NN D0 D900 DY TIVNR NP PPN (MMPI7) (2
DVP DYIIYN DIYNN TPIPNAN . TIVNL 100 =N HHITIY INP2 JOPN 190NN
.0 INN PPN, TIVR 100 -1N DT D900 PN DX .100 D DNY IN

790D 9T NINY D0 DMI901 DY TIVNR NOAPNN PPN (MMPI 8) (O
DAPNNVY 190190 NN NIPN TN 190NN NN PINN DIPNT G0N
VNI

99000 900 | 112 s0| 4371 205 TIVNDN N1AY : NOWTD

,112 21 100 0 DyTav »Od»nn 19000 ,43 N0 HOD»Nnn
.50 X111 70 2 9012 PN 1900
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1012 19IN3) ,TIANND DY APUH TINYA HA9DN NN DIVAY 29 1t hmw by Ty - (51971523 20) 4 9901 WONY

IN2N PN O3 NN (MNP 7) (N

int what1(int k){
if(k<=1)
return 2;
return 2*what1(k-1);
}

void main(){

cout<<"what1(5) = "<<what1(5)<<", ";

cout<<"what1(3) = "<<what1(3)<<endl;

N2 PN OO N (MTMPI7) (2
int *what2(int *p){
return p+1;
}
void main(){
int arr[]={1,2,3.4,5};

cout<<*arr<<" "<<*what2(arr)<<" "<<*what2(what2(arr))<<endl;
}
INAN TYPN 9T NN (MNP 6) (O
int what3(int i){
i+=10;
return i++;
!

void main(){
int i=10;

cout<<i<<" "<<what3(i)<<" "<<i<<endl;
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VHDL :72 759

(5 - 10 M5NW) MNAN MOYNYA 6 7INN 7292 MYNY 3 Yy nayd v

10513 199K, AYANBA YU APUN TIBYA 1I0TH IN OIVIY 20 11t vnw by amy - (I TID) 20) 5 9991 nhHNY

: INID TIIND NN
NONON ,ANMIN MINNAN INVNY 7NN NN P10 PN v (MmNp) 10) (X
1992 ©OWIN YY PAPNY NX) . NMPNn 7DYDN797M PDYRIVPRIN Y HY DI

library ieee;
use ieee.std logic_1164.all;
entity dff is
port (clk, rst: in std_logic;
d: in std_logic;
g: out std_logic) ;
end;

architecture rtl of dff is

begin
process (rst, clk)
begin
if rst='1' then g<= '0';
elsif clk'event and clk = '1l' then
g<= d4d;
end if;

end process;

end;

library ieee;
use ieee.std_logic_1164.all;
use ieee.std_logic_arith.all;
use ieee.std_logic_unsigned.all;
entity testS5A is
GENERIC (Size: INTEGER:= 4);
port(d, clk, rst: in std_logic;
g: out std_logic_vector (Size-1 downto 0));
end;
architecture for_gen of testS5A is
COMPONENT dff
port(d, clk, rst: in std_logic; g:out std_logic);

end component;
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SIGNAL gSig: std_logic_vector (Size-1 DOWNTO 0) := (others=>'0"');

SIGNAL dSig: std_logic_wvector (Size-1 DOWNTO 0):

{(others=>'0");

begin
dsig(0)<=4d;
out_loop: FOR 1 in 0 to size-1 GENERATE
boxs: dff port map(d=>dsig(i), clk=>clk, rst=> rst,
q=>qSig(i));
end GENERATE out_loop;

dsig(1l)<= gsig(2) WHEN dsig(3)=dsig(2) ELSE gsig(3);
dsig(2) <= gsig(3) XOR gsig(0);
dsig(3)<= gsig(l) WHEN dsig(1)/=dsig(0) ELSE gsig(2);

q<=qSig;

end;

,DMONIWY DMI9DNI MIDIND DY DINNIND NITO X DWW v (M) 10) (2
d 19239 ,0 -n (18P Reset HMNND) Tiayd nonnm NOWNnnY nnd 1nmn N

MNP ™INa ‘1 ndapn
16 NN DIV W TPINRNND MPX ONX .AMNHD IX DIV, 1NN N NITO DN

{0 -1 5510) 17253 OMNVUNIN DN
STPINIYL NN 20N NIPR D03
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1057 19INAY , IHANNT HY AUN TIHYA TaTH BN DIUAS N 11t nvNw by oy - (S TID) 20) 6 999N NYNY

Anput = 710007 : )30 02¥0N Y22 TWND ,ININ NIINN NN
o2 div_by 1591 S 030 MM DX IND 0N PNY MNDIVN NN DOYNT W

JIYNIN NYYN NINND DY 29T NP DIDN NIV NN ¥ .count -2
library ieee;
use ieee.STD_LOGIC_1164.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic) ;
end div;
architecture div of div is
signal count: std_logic_vector(size-1 downto 0);

begin
process (rst, clk)
begin
if rst = '1' then
count<= input;
div_by<='0";
elsif clk'event and clk = '1' then
if count = 1 then
count<=input;
div_by<='0";
else
if count < SHR(input,"01")+1 then
div_by<='0"';
else
div_by<='1";
end if;
count<«=count-1;
end if;
end if;
end process;
end;
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MY NANN NPV IMND W NIV D DY o Ny (MM 10) (X
: D220 MMNN NN ST 0N count -2 M2 div_by Sw 101y 0w

count div_by

YN NN DYDY NPT ,NMIDIN NYHTIND NIMYN NIX DM)YUN (m‘an 10) (2
(N3N
if count < conv_integer (input) /2 -1 then

1DMPYY 2D NNYY XTND T 005702 13 NNV TR DD Xonmn

XD 0N count -2 ©N*2 div_by Hw 159y 0w Y NYINNI NIYTN NYAV PIND W
;DD MM NN

count div_by

YN

2> DTN NYSAN NIDIND MAINNT NP0 NHMP SHR dspnan .1
IOIINDZ TINNT MINIKRN NPV NXMP conv_integer mMIpPNoN .2
NON MY 2-2 PN YnNYND MmN TRYTY  .integer -5 MuPmn
.integer

ND N VPR 0003072 1TV POMN0WWY DN INND 1T DRV DL DA L3
1Mo
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10913 19INSY ,IIANBA YU YYD TINYS AI2DN NN DIVIY N3 19t AONY Yy mny - (I 20) 7 9901 nHYNY

$ NN NN PO N
library ieee;

use ieee.std_logic_1l164.all;
entity sm is
port (resetN, clk: in std_logic;
din : in std_logic_vector (1 downto 0);
dout : buffer std_logic);

end sm;

architecture arc_sm of sm is
type state is (pre, bingo, post);

signal present_state, next_state: state;

begin
process (resetN, clk)
begin
if resetN = '0' then
present_state <= pre;
elsif clk'event and clk = '1l' then
present_state <= next_state;
end if;

end process;

process (present_state, din)
begin
dout <= '0';
case present_state is
when pre =>
if din = "01" then
next_state <= bingo;
else
next_state <= pre;

end if;
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when bingo =>
dout <= '1°';
if din = "00" then
next_state <= pre;
else
next_state <= post;

end if;

when post =»>
if din = "00" then
next_state <= pre;
elsif din = "11" then
next_state <= bingo;
else
next_state <= post;

end if;

when others =»>
next_state <= pre;
end case;
end process;

end arc_sm;

.03 tMoore W Mealy »non N1 Noni OXD (MNP 4) (N

D?2YNN Y2 IR DIYID TP .NNDNN DY D3NN NNNNT DI (MTP) 8) (2

JINNO 28D NN MDD DRDY MONN NN 281D 280N (DY8NN)
21720 TN MO .APITL AN YNDY NV DY TP 2N TOY (MNP 8) [

NN PYTAD TNN PN IMON2 ANND 23NN DMPIVARD (DYSNN) DM2YNRN 22 DX
1010N1 DY NINND HININNT NINNIND
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19513 19INY, NIINBA YU WUN TNYA Hoon TN 1A X 1 hoe Sy iy - (Y1) 20) 8§ 9901 nYNY

: NIN PYNNN N
LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD_LOGIC;

vecl, vec2: IN STD_LOGIC_vector(3 downto 0);

smaller: OUT STD_LOGIC_vector(3 downto 0));
END;
DMNLPNT DTN IMMYN TINN) NI INTID N0 v (M) 10) (N
;DMNVPNN MY PIAN AN MVPH DONN DY NN yNany (00100
1200 N ,DIPIVION 722 YNnwnd 1nn) Dyo mINMNaY vecl,vec?2

ATMYN NYNIN NOX TIY DPINN MPN NITIIN0 : NNDWN) 200N

9N NMTINION IR 000 (Package) 'n>an’ :mob v (MM 2) (A
12 NYNNYNY NNTINMIND ARNPN INOVPYIIIN DINID v nyd (MNP 8) (O
MY MINN D230 NN W NYNNYN DN DINYNRN DX PI0NY NN

JDIDND 1St NDND WM DIXNYND MVTN DYDY 2 NDOY MYIN

W LPISY 10D T YOM DIRNND MPN PN DOV PITID NVINKRD POV
JIUNNYN DN 82NYNNY NINNN NIV 19X NN NMIAY PA0ID
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1059 191G, TMANBN H¥ 1PUN TR NIDTH NN MUY X Tt avww by sy - (FIVTID) 20) 9 4901 NHYNY
21V TIDIND INVNY DIIND NN N v (MNP 10) (X

LIBRARY IEEE;
USE IEEE.STD LOGIC 1164 .ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09A What IS
PORT (clk, rst, inp: IN STD_LOGIC;
otp: OUT std_logic);
END;
ARCHITECTURE arc OF test09A What IS
SIGNAL a, b, c: std_logic;
BEGIN
otp<= (c AND b) WHEN inp=a ELSE (a XOR b);
process (clk, rst)
begin
if rst= '1l' then
a<= '1l'; b= '1l';
elsif rising_edge(clk) then
a<=inp AND c; b<= NOT a; c<= b OR a;
end if;
end process;
end;
1Y TPIDIND INVAY NIDIND IR XD v (MM 10) (2
LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164 .ALL;
USE IEEE.STD_LOGIC ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09B_What IS
PORT (clk, inpl, inp2: IN STD_LOGIC;
otp: OUT std_logic) ;
END;
ARCHITECTURE arc OF testO0SB_What IS
SIGNAL a, b, c: std logic;
BEGIN
process (clk)
begin
if rising edge(clk) then
if a= b then
a<= inp2; otp<= b;
end if;
end if;
end process;
b<= a WHEN inp2 = inpl ELSE c;
c<= b WHEN (a = inpl) ELSE inp2;
end;
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10912 J9INAY ,3VI3NHN DY YN Tinys DI9TH NN BIVID N1 11t ANY 9y sy - (ST 20y 10 Hoon nYNY

.DNYYI DXOIN D01 TIP 1IN0 NON IR NONYA

d1 d d2 d

c 9| ql < q | q2

d(1) <= q(2) XNOR q(3);

a3 L d . q3 d(2) <= q(3) WHEN d(1)/=d(3) ELSE
q(1) AND q(2);
_J\ [ q
4 r d(3) <= q(2) WHEN d(2)=d(1) ELSE

i* a(1) OR q(2);

(Clocked Process) TNN )WY Y2170 7000 D00 Nip 2n20 v (mMp) 20)
INTY POV MPN DI TO .IPNMIDN NI NYY KO POIN TV L,DN2ITH NI
2D DWANND NN PN

NYTAN AUV NINHYNAN "N

d(1) <= q(2) XNOR q(3);

d(2) <= q(3) WHEN d(1)/=d(3) ELSE
q(1) AND q(2);

d(3) <= q(2) WHEN d(2)=d(1) ELSE
q(1) OR q(2);

D>YIN2 DMINDIDN YD MAIVN MHIYN
19790 NN d -1 03071 X3 NN @ 1N r=Reset, c=clk : Dwanav onmbTa 1
Signal »on mmx on d(1), d(2), d(3), q(1), q(2), q(3) .2

bit non MMND 9o% NN 1M

ST VTP NN, DVINN DY DNIDI0I YHNYNY NN

R W

YIDUN MNINA NADINN AN PRIY NN IR, TP MMX PO 1m0

nnysna
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